Worksheet Feb. 14- MAC 2311 NAME: Panther ID:

1. Compute the derivative of each of these functions. Simplify the answer when possible.

(a) y = (Inz)-(secx) (b) y = In(secx) (¢) y = sec(lnx)

(d) f(z) = e=n* (e) v(t) = cos®(3t) (f) h(z) = v/ 2% + 2

2. Find the equation of the tangent line to the graph of f(z) = e 3% at 2 = 0.

3. Show that y = e~ is a solution of the differential equation y” — (v')? +2y = 0.




4. Use logarithmic differentiation to find the derivative of

(a)y = a* by = 2

5. Use logarithmic differentiation to prove the product and quotient rules.

6. Pb. 74 section 3.3



